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where:

T, = input clock period
b =5 (1= A (1))

taf:‘( in — %( 1 + Adu in (t) )
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Determine periodicity of output clock:
2T, =21, +t, .+ 2T, +ty.
2T, =4T, +t, ittty
2T, = 5T,

Average period of output clock:

To=5T,
Determine period of output clock:
Output period 1:

Tm:t = 2Tin + tnn in — 2Tin + rIt;m ( 1 - Adu in (t) ) — i)%( ]- - Adu in (t) )

Output period 2:

Touz = 2T+t i = 2T+ E (1+A..(t)= 5%( 1+A...(t)
Duty cycle of output clock:
bon o = L
bott ot 1 = Tint bon in = 35 (1—-Auu(t))
_ 3T

tuf]_uul_‘.’ - Tin + tuff_in - 2 ( 1 + Ar!u_iu (t) )
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